Malmo6 BK
Simultan 2021-10-14

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 4 144 60.00 Kent Hermansson - Lars Becklén 94292 80419 BK Bridgehuset - Malmd BK
1 7 144 60.00 Olle Persson - Sigrid Svenson 23285 64393 Malmo BK - Lunds BK
3 3 143 59.58 Mats Holm - Klas Bellander 4537 4541  Malmé BK
4 2 141 58.75 Osten Svantesson - Jan Clementsson 5765 55627 Malmo BK - BK Lavec
5 1 135 56.25 Lennart Ek - Claes Bengtsson 39185 57112 Malmd BK
6 10 126 52.50 Johnny Pettersson - Bjorn Edvardsson 11666 15757 Malmd BK
7 9 113 47.08 Bengt Sannar - Ebon Agvard 31102 - Malmé BK
8 6 110 45.83 lldiko Lang - Gun Bellander 28328 3638 Malmo BK
9 11 109 45.42  Hans-Olof Holmqyvist - Sven-Olle Ekstrand 15960 60234 Malmd BK
10 8 101 42.08 Gosta Wiik - Jan Strandberg 40520 40518 Malmé BK
11 5 95 39.58 Bonnie Clementsson - Annette Wald Gardenfors 55628 55160 Malmé BK
12 12 79 32.92 Bertil Hansson - Lone Stolt 6750 82807 Malmo BK
1 «KD Basta kontrakt 2 4 Kn9 Basta kontrakt 3 4 KD2 Basta kontrakt
Nord v DKn63 4v N =420 Ost v K109852 44 O =-420 Syd v 975 4¢ V D -1 200
Ingen + E8762 NS + KD ov + EKn5
#Kn5 & ¢ v & NT #KD8 & ¢ v & NT D762 & ¢ v &aN
~E8 4976532 N 5 10106 9 4D8654 4K1073 N7 4835 a7 4965 N8 34909
v 1075 vK9 S 5 10106 9 vKn6 v ED7 S7 4835 vKDKn832 v4 S734909
+ K93 ¢4 083373 ¢+ E10 ¢ Kn9752 O5 9 5 106 +K10932 #8764 059834
#D10872 #E643 V83373 #Kn762 #9 V595 107 «10 #EKKn54 V5983414
4 Knl104 s E2 « EKn10843
v E842 v43 vE106
+ DKn105 + 8643 +D
*K9 #E10543 983
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 12 4v S= oA 420 100 00| 2 11 2v N+1 «9 140 70 30| 2 11 54aDO-5 ¢Q 1400 10.0 0.0
2 11 3v N+2 A 200 80 20| 7 12 2v N+1 9 140 70 3.0| 7 12 44 S= &T 420 8.0 20
4 3 2v S+2 *2 170 50 50| 8 6 2v N+1 9 140 70 30| 4 3 44S-1 vK -50 5.0 5.0
9 1 2v N+2 *2 170 50 50|10 5 2v N+1 9 140 70 30| 8 6 44S-1 &T -50 5.0 5.0
8 6 3¢ N+1 49 130 20 80| 4 3 34V+l ] 170 20 80| 9 1 54DS-2 &T -300 2.0 8.0
10 5 3aDO-1 &K 100 0.0 100| 9 1 4e V= ] -420 0.0 10.0|10 5 3vDV= oK -730 0.0 10.0
4 # Kn86 Bésta kontrakt 5 &« K763 Bésta kontrakt 6 & Kn42 Bésta kontrakt
Vast v76 5v V =-650 Nord v KKn72 5¢v N =650 Ost v 1042 2NT S =120
Alla 43 NS 49872 ov ¢+ E104
#Kn98543 & ¢ v & NT »8 & ¢ v & NT #ED72 & ¢ v aN
4 D752 4 E9 N53233 4 E1052 4 DKn94 N 9 10117 10 +~E8 4 K10765 N6 6 878
vEKD105 v983 S53233 vD43 v 105 S 9 10117 10 v 97 v K83 S 66878
+ K108 ¢ E972 O 8 10111010 ¢ KKn53 ¢ D6 03326 3 + KD865 ¢ Kn7 077 454
*7 2K1062 V 8 10111010 #Kn2 297543 V33263 #K864  #Kn95 V77454
4 K1043 48 4« D93
v Kn42 v E986 v EDKn65
¢ DKn65 +E104 +932
#ED #EKD106 103
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 6 3v V+1 +4 -170 100 0.0| 3 11 4v S+1 *] 650 80 20| 9 2 3vS= *2 140 9.0 1.0
9 2 2vV+3 +3 200 80 20| 8 12 4vy N+1 «Q 650 80 20|10 6 2v S+1 4 A 140 9.0 1.0
1 7 4v V= +3 620 40 60| 9 2 4vy N+1 +3 650 80 20| 1 7 INO-1 vQ 100 50 5.0
3 11 4v V= 8 620 40 6.0 1 7 4v N= ¢+Q 620 30 70| 311 240-1 vlJ 100 50 5.0
8 12 4v V= 46 620 40 6.0( 5 4 4v N= «Q 620 30 70| 5 4 3vsS-1 aA 50 1.0 9.0
5 4 4v V+1 *4 650 0.0 10.0{10 6 2NN +2 «Q 180 0.0 10.0| 8 12 3v S-1 a A 50 1.0 9.0
7 #1063 Bésta kontrakt 8 4964 Bésta kontrakt 9 & K2 Bésta kontrakt
Syd vKn72 6y V =-1430 Vast vKnl0 54 V =-450 Nord v Kn876 44 N =130
Alla + Kn1032 Ingen + D98732 ov +93
%643 & ¢ v & NT #98 & ¢ v & NT #EKn1086 & ¢ v &N
4E875 49 N2 4154 4 E2 4KDKn108 N1 7 1 2 4 4 Kn84 « E10953 N 103 5 3 8
vKD109 vE853 S 24154 vED73 v K854 S17124 vE109 vKD43 S 103 5 3 8
+9 ¢+ D8754 O 109 127 9 +6 ¢+ Kn O 116 11116 +D1076542 ¢ Kn8 039894
#E1098 &#KD7 vV 109 127 9 #D106432 #KKn5 V 116 11116 »- »97 V3989414
& KDKn42 4753 4 D76
v 64 v 962 v52
+ EK6 + EK1054 ¢+ EK
#Kn52 »E7 #KD5432
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
1 12 2vV+2 46 -170 100 00| 1 12 6vDV-1 *7 100 100 00| 1 12 3NN= 49 400 9.0 1.0
10 7 2v V+3 43 200 80 20| 9 3 3¢DN-2 ¢J -300 80 20|10 7 3NS= +5 400 9.0 1.0
2 8 4v V= 43 620 6.0 40| 6 5 4v O+1 ¢ A -450 40 6.0| 2 8 44S-= 2 130 30 7.0
6 5 4v V+1 aT 650 3.0 7.0(10 7 54 O= ¢ A -450 40 6.0 6 5 3#S+1 LY 130 30 7.0
9 3 4v V+l *2 650 3.0 70(11 4 4v V+1 *7 -450 40 6.0 9 3 44 N= *2 130 30 7.0
11 4 49y V+2 v] 680 0.0 100| 2 8 5¢DN-4 &K -800 0.0 10.0|11 4 44 S= 2 130 30 7.0
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10 & K982 Basta kontrakt 11 a4 Basta kontrakt 12 4 K765 Basta kontrakt
Ost v 82 3v O =-140 Syd vD9 44 V =-420 Vast v K9 5NT V =-460
Alla + KD654 Ingen + K97642 NS + 10764
*92 & ¢ v & NT »K862 & ¢ v & NT *K93 & ¢ v & NT
« DKn6 « 107 N58 385 2 KKn752 «ED83 N46 8 36 +E8 & 32 N3616 2
vKnl10975 vE643 S$58385 v6 v K52 S 46836 vKn865432 vEDI10 S3616 2
+1092 ¢+E8 085956 ¢ EDKn 41083 09 6 4 107 +5 ¢ EK32 O 107 117 11
»86 #EKD105 V85956 #E1094 «D75 V 96 5 106 *E86 #Kn1054 vV 107 117 11
« E543 » 1096 » DKn1094
vKD v EKn108743 v7
¢+ Kn73 +5 + DKn98
#Kn743 #Kn3 *D72
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 6 4v V-2 +K 200 100 00| 3 1 440-1 vA 50 80 20|11 5 3vV+2 *T -200 10.0 0.0
3 14v0-1 +3 100 80 20| 9 4 540-1 vA 50 80 20|10 8 4v V= a5 -420 8.0 2.0
10 8 2¢ N= &A 90 6.0 40|10 8 4e V-1 vQ 50 80 20| 3 1 4v0+1 LY6) -450 5.0 5.0
9 4 140+1 *2 90 3.0 70| 7 6 4eV= vQ 420 2.0 8.0(12 2 4v V+l 46 -450 50 5.0
11 5 14 0+1 vK 90 3.0 7.0|11 5 4e V= vQ 420 20 80| 7 6 4v V+2 +6 -480 1.0 9.0
12 2 3vV+1 +K -170 0.0 10.0(12 2 44 O= ¢+5 420 20 80| 9 4 4v V+2 *2 -480 1.0 9.0
13 4108743 Basta kontrakt 14 473 Basta kontrakt 15 4 Kn1076 Basta kontrakt
Nord vE876 44 O =-130 Ost v Kn954 74 S =1510 Syd v 109752 4¢ V =-130
Alla +3 Ingen + EKD9 NS + EKn7
*K95 & ¢ v & NT #ED2 & ¢ v & NT *6 & ¢ v & NT
4EKN6 4D2 N357765 #1054 « D96 N 10137 1310 45 432 N33796
v1095 vKn4 S357765 vE10876 vKD32 S 10137 139 vED63 vKn8 S33796
¢ EK4 + D1098 O 108 5 6 8 ¢+Kn742  +10 020600 ¢ 10863 ¢ K952 O 10106 4 6
#D1083 #E7642 V 108 5 6 8 *6 #Kn8743 V20600 #ED107 #KKn432 V 10106 4 6
& K95 & EKKn82 » EKD984
v KD32 v- v K4
¢ Kn7652 + 8653 + D4
#Kn #K1095 #985
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
9 5 3NO-2 *2 200 100 00| 4 2 64 N= vK 920 100 0.0|11 6 44 S= *A 620 10.0 0.0
110 2v N-1 +9 -100 80 20| 9 5 3NN+3 *2 490 70 30| 1 10 44 S-1 a5 -100 6.0 4.0
11 6 INV+2 a4 -150 6.0 4.0(11 6 3NN+3 vK 490 70 30| 4 2 44S-1 +6 -100 6.0 4.0
8 7 2&V+4 +3 -170 40 6.0 1 10 3NN+1 vK 430 30 70| 9 5 34S-1 *2 -100 6.0 4.0
4 2 3NV= 3 -600 2.0 8.0| 8 7 3NN+1 v3 430 30 7.0(|12 3 4aV-= L) -130 2.0 8.0
12 3 24DN-3 vJ -800 0.0 10.0(12 3 5¢ N-1 vK -50 0.0 100| 8 7 440+1 s A -150 0.0 10.0
16 & KKn1075 Bésta kontrakt 17 & Kn Bésta kontrakt 18 » EKKNn74 Bésta kontrakt
Vast vD74 44 N D -3-500 Nord v K2 64 O D -2 300 Ost v7 5¢v O =-450
oV +84 Ingen + KD9832 NS + 9876
#1097 & ¢ v & NT #K1042 & ¢ v & NT *874 & ¢ v & NT
~E84 463 N7 3274 4 ED764 » K10853 N 12124 3 8 10 « D63 N2 3263
vKn10832 v EK95 S73274 vDKn9753 ¢10 S 12124 3 8 vE1043 v K986 S$2326 3
¢ KKn53 ¢ E62 O 6 10106 9 *7 ¢ 1065 0116 101 ¢ EK3 ¢ D52 O 119 117 10
*2 #DKn43 V 6 9 106 9 *8 +D763 V116101 #ED1032 #Kn95 vV 119 117 10
« D92 92 #9852
v6 v E864 v DKn52
+ D1097 ¢ EKn4 + Knl104
#EK865 #EKn95 »K6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 10 4v V-1 &T 100 100 00| 2 10 5#DN= vT 550 100 00| 7 11 3v V+1 s A -170 100 0.0
1 8 44DN-1 ©vA -100 60 40| 1 8 4¢ N+2 3 170 80 20| 1 8 24 N-2 *9 200 8.0 20
7 11 34 N-2 vK -100 6.0 40| 5 3 44 N+1 a3 150 6.0 40| 2 10 4v 0= 5 -420 50 5.0
9 6 44 N-2 vA -100 6.0 4.0(12 4 54DV-1 +K 100 40 6.0(12 4 4vO= +J -420 50 5.0
12 4 4y V= *7 620 20 80| 9 6 3NS-2 vQ -100 20 80| 5 3 4vV+l s A -450 2.0 8.0
5 3 44DN-4 vA -800 0.0 10.0| 7 11 44DO= ¢ A 590 0.0 10.0| 9 6 4vDV= *2 -590 0.0 10.0
19 # EKn53 Bésta kontrakt 20 & Kn1042 Bésta kontrakt 21  KD65 Bésta kontrakt
Syd vE93 6¢ S =920 Vast vD74 4v V =-620 Nord v E543 24 O =-110
oV + K985 Alla ¢ Kn642 NS + 1054
#K10 & ¢ v o NT #E3 & ¢ v o NT *Kn4 & ¢ v & NT
# 109642 « KD87 N 9 128 7 10 » EK3 « D75 N25242 # EKNn9432 487 N85 856
vKKn10862 - S 9 128 6 10 vKKn103 vE62 S252 42 vKn vD1096 S85856
+D ¢ 762 04156 2 ¢E7 ¢ K108 O 118 109 9 4982 ¢ EKKn63 048587
*4 #D98532 V41562 #10642  #DKn87 V 118 109 9 D73 »62 V48587
.- # 986 10
vD754 v 985 v K872
¢ EKn1043 + D953 + D7
#EKn76 *K95 #EK10985
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
9 7 5vDV-7 #2 2000 100 00| 2 1 3NO= +5 600 9.0 1.0 2 1 3¢DO-1 T 100 10.0 0.0
2 1 3NS+1 a4 430 6.0 40| 6 4 3NV= +6 600 90 10| 8 11 34S-1 vJ -100 8.0 20
3 10 3NS+1 a2 430 6.0 40|12 5 3NV+1 L) 630 6.0 4.0(12 5 34#S-2 vJ 200 6.0 4.0
12 5 3NN+l 3 430 6.0 4.0| 3 10 3NV +2 a2 -660 20 80| 6 4 4vS-3 s A -300 40 6.0
6 4 44DO-1 A 200 20 80| 8 11 3NV +2 v4 -660 20 80| 9 7 24DV= *2 -470 2.0 8.0
8 11 5¢ S-1 *4 50 0.0 100| 9 7 3NV+2 a2 -660 20 80| 3 10 4vDS-3 *2 -800 0.0 10.0
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«108
v DKn83
+ K1096
#K107
«D9 « Kn654
v K106 vE752
¢ 542 +D
#Kn9652 #ED84
« EK732
v94
¢ EKn873
3
Par  Kontr Ut

11 3¢ S+2 &5
2 3¢ N+1 A
5 3¢ S+1 &2

10 1a S+1 2

12 3¢ S=
8 3¢ S-1 &2

Basta kontrakt

4¢ S =130
S ¢V &
N4 107 8
S 4 107 8
68355
V8365

Res Poan

150 1
130
130
110
110
-50
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& EKn107
v 10976
+ D10
&K94

& K83 & D5
vEKD82 vKn543
* K7 ¢ E65
#1083 S»E752

#9642

v -

+ Kn98432
&DKn6

Kontr Ut

4v V -2 &2
4v V-1 &4
4v V-1 v7

4y V = v9
4v V = v6
4v V = v6

Basta kontrakt

4v V =-620

S ¢V 4
N4837
S 4837
® 9 5 105
V 8 5 105

Res Poan
200 1
100
100

-620
-620
-620

NNNNNO
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& Kn1097
v Kn43

©COorDZ

#EKN964

POOWWo @
eleolololeole]
[(oNe) NN N SNEN|

& 654

vED10762

+93
&D7

& KD2
v 95

+D10764
#1053

Kontr

5¢RD O -5

3NO-2
3¢ O-1
2N O +2
4e V +1
3N O +2

4 E83
vK8

¢+ EKKn85
»K82

2200 1
100

Basta kontrakt

4a V =-420

S ¢V 4
N3573
S3573
O 108 6 10
V 108 6 10

Res Poén

50

-180
-450
-460
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